

210-1455 Youville Drive Orleans, On K1C 6Z7 613-837-1104 Phone:

Vendor:

S & S BOLTON ELECTRIC INC. 5411 CANOTEK ROAD GLOUCESTER, ONTARIO K1J 9M3 Ship To:

Site: Lot/Unit: **DEERFIELD VILLAGE PHASE 2**

Model:

Civic:

DEARBORN PRIVATE

BLOCK S13 TO S24

tel: fax:

contact:

6137480432 613-748-0355 **CAROL**

ORDER DATE CHG. ORDER DT. **CANCEL DATE** RESPONSIBILITY **VENDOR# TERMS** Jun 02, 2022 **ARIEL** S02 **NET 30 DAYS** Comments/Special Instructions: REFERENCE

JOB/LOT/COST	REFERENCE	Description	QTY ORDERED	UNIT PRICE	EXTENSION
042-S24-240	CODE 240	- RUN BX WIRES FOR MAIN SERVICE S24 -	1.0000	215.000000	215.00
					9
	And-	Subtotal HST		2,580.00 335.40	
Autho	rized Signature	Total Orde	2,915.40		

ORDER TERMS AND CONDITIONS

- 1. INVOICES must bear exact same prices and terms or authorization for changes must be received from our company in writing prior to shipping.
- The right is reserved to cancel all or part of this order if not delivered within the time specified.
 Packing slips must accompany all shipments.
- 4. In the event of interruption of our business in whole or in part by reason of fire, flood, windstorm, earthquake, war, strike, embargo, acts of God, governmental action, or any causes beyond our control, we shall have the option of cancelling undelivered orders in whole or in part.

 5. Acceptance of this pirchase order, or shipment of it will constitute an agreement to all of its specifications as to terms, delivery and prices.
- 6. No deliveries accepted after 4:00 pm or on weekends



PO0051519



210-1455 Youville Drive Orleans, On K1C 6Z7 **Phone:** 613-837-1104

Vendor:

S & S BOLTON ELECTRIC INC. 5411 CANOTEK ROAD GLOUCESTER, ONTARIO K1J 9M3 Ship To:

Site: Lot/Unit: **DEERFIELD VILLAGE PHASE 2**

Model:

Civic:

DEARBORN PRIVATE

BLOCK S13 TO S24

tel: fax:

contact:

6137480432 613-748-0355 CAROL

ORDER DATE Jun 02, 2022	CHG. ORDER DT.	CANCEL DATE	RESPONSIBILITY ARIEL	VENDOR # S02	TERMS NET 30 DAYS
Comments/Special I	omments/Special Instructions:				

JOB/LOT/COST	REFERENCE	Description	QTY ORDERED	UNIT PRICE	EXTENSION
042-S13-240	CODE 240	RUN BX WIRES FOR MAIN SERVICE S13	1.0000	215.000000	215.00
042-S14-240	CODE 240	RUN BX WIRES FOR MAIN SERVICE S14	1.0000	215.000000	215.00
042-S15-240	CODE 240	RUN BX WIRES FOR MAIN SERVICE S15	1.0000	215.000000	215.00
042-S16-240	CODE 240	RUN BX WIRES FOR MAIN SERVICE S16	1.0000	215.000000	215.00
042-S17-240	CODE 240	RUN BX WIRES FOR MAIN SERVICE S17	1.0000	215.000000	215.00
042-S18-240	CODE 240	RUN BX WIRES FOR MAIN SERVICE S18	1.0000	215.000000	215.00
042-S19-240	CODE 240	RUN BX WIRES FOR MAIN SERVICE S19	1.0000	215.000000	215.00
042-S20-240	CODE 240	RUN BX WIRES FOR MAIN SERVICE S20	1.0000	215.000000	215.00
042-S21-240	CODE 240	RUN BX WIRES FOR MAIN SERVICE S21	1.0000	215.000000	215.00
042-S22-240	CODE 240	RUN BX WIRES FOR MAIN SERVICE S22	1.0000	215.000000	215.00
042-S23-240	CODE 240	RUN BX WIRES FOR MAIN SERVICE S23	1.0000	215.000000	215.00

Continued on next page...



P.O. Request \$2,580.00

A Division of the S&S Bolton Group www.ssbolton.com

Tel: (613) 748-0432 Fax: (613) 748-0355

+ 413

Job Location:

VALECRAFT HOMES LTD. Deerfield Village Contact Information:

VALECRAFT HOMES LTD, Tel: 613-837-1104 eMail: sundus@valecraft.com **Customer:**

VALECRAFT HOMES LTD. 210-1455 Youville Drive Orleans, ON K1C 6Z7 **WORK ORDER**

WO-SS25537

Assigned To:

Mathieu Belanger

	Co	ndos E	Block S							rica	1,131	OIV	KIC	021				.	, ,,_		11901	
	,		•														5chedu	led Date:	10/	15/2021	07:37 AM	1
R	E: W	O: Jol	2000	21 De	erfield	Village	Condo	Block S	tolan XI al ta 4 NO pola year	72112004231512	BLEWN HET LAN	********	· HIIII OZN	## P144 P#(XIX 10:161] #	i). Miljon B od Uriji og skilatel ser	aniswansa.	FR FA-TURES CONSTRUCTION	:::)	eviiinegaka	DEPUNEUM AND		
D	ESCR	IOITGE	1:				is comple		this subsect of the state of the	-avmm		ELECTRIC C	enspælie ræl	MERIMININ SERIM	ghees;mutann	NJJSHYSJOENI LA		IDB <i>(IP</i> F)44(SRed7)11	OMSTRAINING	DA, Dod's & & \$1.4 bet /pe per per per	NAN ZIPANG METAT MI GI	hann
W	ORK	PERFO	RMED:		·																	
																						mes.A.A.
			••																	7,1,2,1,	,	
:		D/	\TE				SERVICE	MAN :					EG H				O/T HR	ş		D/T HI	RS	克
٠,				the Ministra	 					-	_5	20	7-1-1	1K	-							
_																						-
										+												
	(.									+-												_
_																						
P	T S	QTY		PA	RT NO#	- MATE	RIAL DES	CRIPTION		P	T	S : (QTY:		P	ART N	10# - M	ATERIAL	DESC	RIPTION		
							,					T										-
																		·		•		
																					,	
																•						
						P	- Purchased	Materials, T -	Material fro	m Truc	k, S	- Mat	terlal fr	rom Ware	ehouse S	tock						
			COMP	LETE []		INC	OMPLETE	[]		Wo	rk con	npleted	to custon	ner's satis	faction.	/		•••		*****	
}															Shi	1						
,			· · ·												CIIC	TOMER	SIGNATUR	E / DATE SIG	MED			
, ;										l					, cos		- SIGNATOR	E / PAIE SIG	MED			_
)																						



Tel: (613) 748-0432 Fax: (613) 748-0355

Shipping address:

Deerfield Village Condos Block S VALECRAFT HOMES LTD.

Invoice address:

VALECRAFT HOMES LTD, 210-1455 Youville Drive Orleans ON K1C 6Z7 Canada **Customer:**

VALECRAFT HOMES LTD. 210-1455 Youville Drive Orleans ON K1C 6Z7

Canada Tel.: 613-837-1104

Fax: 613-837-5901

Origin: WO-SS25537

Quotation N° SO-SS010886

Your Reference	Quotation Date	Our Salesperson	Payment Terms
WO-SS25537	01/06/2022	Stephanle Murray	Net 30 Days
manuscriptor of the control of the property	t.	sbrunet@sandselectric.ca	

Description	Quantity	Unit Price	Price
Electrician	30.000 Hr	86.00	\$ 2,580.00
		Net Total :	\$ 2,580.00
•		Taxes :	\$ 335.40
		Total:	\$ 2,915.40

Net 30 Days

Purchase Orders

From:

Roger Brunet

Sent:

Thursday, May 19, 2022 2:39 PM

To:

Purchase Orders; Daniel Guerin; Stephanie Murray

Cc:

Carole Roy; Daniel Rollin; Tricia Oliver

Subject:

Fwd: Block R & S Electrical

Attachments:

image002.jpg; image003.jpg; image004.png; image004.png; WO-SS25537 - Block S.pdf;

WO-SS24890 - Block R.pdf

Follow Up Flag:

Follow up

Flag Status:

Flagged

Categories:

Red Category

Good afternoon,

Ariel as per our site meeting yesterday both Attached pricing has been approved, please provide a PO to Stephane and would like this paid asap.

Dan , Tricia , please add 30 additional hours to the contact moving forward for block U , T , V which will cover additional labour to run feeder cables and protection plates if required

Stephanie, can you double check for block R

47 hrs for extra labour to run feeders.

I believe Mathieu B. has my copy, not sure if you have already been paid for that one?

When we reviewed yesterday there was 2 invoices for block R one of 86 hrs and one of 47 hrs for the same work and was agreed to pay the 47 hrs one

Let me know

Thanks

Roger Brunet Consultant

1455 Youville Drive, Suite 210

Orleans, On K1C 6Z7

Tel: <u>613-837-1104 Ext. 206</u> Mobile: <u>613-229-4583</u> www.valecraft.com

Begin forwarded message:

From: Stephanie Murray <smurray@sandselectric.ca>

Date: May 19, 2022 at 11:45:06 AM EDT **To:** Roger Brunet <rbrunet@valecraft.com>

Cc: Daniel Rollin <drollin@sandselectric.ca>, Carole Roy <croy@sandselectric.ca>

Subject: RE: Block R & S Electrical

Good morning, Roger,

I have attached the following PO requests:

WO-SS24890: Block R for additional protection plates - Cost is \$2,436.80 + HST

WO-SS25537: Block S to Run BX prior to drywall prep - Cost is \$2,580.00 + HST

Block T, U & V will be added to our contract.

Please let me know if you have any questions.

Thank you!

Stéphanie Murray

Customer Service Manager

S&S Electric / Orbital Home Integration 5411 Canotek Road, Ottawa ON K1J 9M3 Phone: +1 613.748.0432 x227 Fax: +1 613.748.0355

smurray@sandselectric.ca

https://link.edgepilot.com/s/77c110cc/NgsIzXLUOUOTF5zYJtGpow?u=http://www.sandselectric.ca/

From: Roger Brunet <rbrunet@valecraft.com>

Sent: May 3, 2022 1:07 PM

To: Daniel Rollin drollin@sandselectric.ca; Jeff Jasmann <jjasmann@valecraft.com

Cc: Kelsey-Lyne Perrier < kperrier@sandselectric.ca >; Stephanie Murray < smurray@sandselectric.ca >

Subject: FW: Block R & S Electrical

Importance: High

Hi Dan, Jeff,

Dan can you please get in contact with Jeff to meet on site to go over those invoices . After speaking with Jeff , we use open web joist so no need to drill any of those joists

Thank you

Roger Brunet Consultant

1455 Youville Drive, Suite 210 Orleans, On K1C 6Z7 Tel: 613-837-1104 Ext. 206

Mobile: 613-229-4583

https://link.edgepilot.com/s/2fe8a8a4/DvO4EPf7qUq0H8jSDDrKMA?u=http://www.yalecraft.com/

From: Purchase Orders < PO@valecraft.com > Sent: Tuesday, April 26, 2022 2:37 PM
To: Roger Brunet < rbrunet@valecraft.com >

Cc: Stephanie Murray < smurray@sandselectric.ca>; Kelsey-Lyne Perrier < kperrier@sandselectric.ca>

Subject: Block R & S Electrical

Importance: High

Have confirm that they are with Roger for Review. Please contact him on this to have resolved before Month End.

Ariel Valdes Purchasing Assistant 210-1455 Youville Drive Orleans, Ont, K1C 6Z7

Tel: 613-837-1104 Ext. 220